EXPLODED VIEW

o
7 <’\19
18

16

ohiosteel.com/partsstore

OHIO STEEL INDUSTRIES

1-800-652-2321

ITEM | PART NO DESCRIPTION QTY || ITEM | PARTNO DESCRIPTION QrY
1 311161 |POLY BODY 1 15 3/8-16 x 3" Hex Bolt 1
2 | 6000404-B2 |UNDERCARRIAGE 1 16 3/8-16 x 3-1/2" Hex Bolt 2
3 KIT 6004321 5/16-18 x 1-1/2" Hex Bolt 12 17 Bushing 2
4 |7 |5/16-18 Flange Lock Nut | 12 18 KIT Latch 1
5 | 6000310-B2 |Front Support 1 19 c001665-5G Latch Spring 2
6 300002 |Axle 1 20 Spring Loaded Hitch Pin | 1
7 Welded Drawbar 1 21 3/8-16 x 3/4" Hex Bolt 1
8 Shoulder Bolt 1 22 | 6002415-1 |Wheel (BUSHINGS INC.) 2
9 Spring Washer 1 23 3-1/8" Spacer 1
10 KIT Swivel Clevis 1 24 KIT 1" SAE Flat Washer 4
11 [6001663-BG|1/2" USS Washer 1 25 | 6004324 [2"spacer 2
12 3/8" USS Flat Washer 1 26 Hairpin Coftter, 2-5/16" 2
13 3/8-16 C-Lock Nut S o KIT REPLACEMENT BUSHINGS |
14 Foot Pedal 1 6000810 | (SET OF 4)

9



https://ohiosteel.com/product/body-structural-foam-4048p/
https://ohiosteel.com/product/undercarriage-27-x-1-black/
https://ohiosteel.com/product/hardware-bag-4048p-body/
https://ohiosteel.com/product/support-front-sd-black/
https://ohiosteel.com/product/axle-1-x-33-875/
https://ohiosteel.com/product/drawbar-assembly-black-grey-4/
https://ohiosteel.com/product/drawbar-assembly-black-grey-4/
https://ohiosteel.com/product/wheel-4-80-8-x-1-silver/
https://ohiosteel.com/product/hardware-bag-1-axle/
https://ohiosteel.com/product/kit-1-wheel-bushings/

	6004145-MANUAL.PDF
	Safety
	Warr(2)
	Content
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View16
	Drawing View18
	Drawing View19

	Assy 1
	Drawing View3
	Drawing View28
	Drawing View29
	Drawing View30
	Detail View A (1 : 2)
	Detail View B (1 : 4.5)

	Assy 2
	Drawing View33
	Detail View C (1 : 4)
	Drawing View36
	Detail View D (1 : 5)
	Drawing View39
	Detail View G (1 : 5)
	Drawing View41
	Detail View H (1 : 7)

	Assy 3
	Drawing View38
	Drawing View43
	Detail View I (1 : 6)

	Ops 1
	Ops 2
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View24
	Drawing View25
	Drawing View26

	Repair
	Drawing View27





